PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

EY AN AUTONESK ENNCA

yenmantemlsznowy

snemedolvstvl sw audomszdhunds w

vanedl 2 : euovgrngel
21 wmrgdusey

27 grhnsciostdun
guraloutin ¥ #oaiinns e - Pote Gos Discharge Tooe Overvotloge Arester S0 ol Safe Rng h
2300 - /564 RAWNDS COTY urmm?nqlu Cosselle 130 ogorne WY iFAuFITD B 271 Wuadniun

mond ¢ : doulwesmrine

41 Afevrpemnfiu

" ! el . oyttt o
ey hafifetmoumsind L N R I 5 ulyrosd i 271 Cassette Wi Magazne #OYNIN High Difactec . Mosture Renstance WB¥ Fre Retardotion Thermeplustc o e obh valihifor neom vivgenit wiowfusamtngratusznmsanonse o
‘ PRI T et | . 4
. imgtiedel asiosun ladfinuivesy e i o creRosE v
vnfl 1 : domumtaly) s Amencan Notionol Stondord nstiute 272 Cosette Y30 ogozne 1SUMILTIY Twes - Paie Gas Dicnorge Tobe Overvloge Arester 41474 10 # o i 1 ! i
PIPALS e r I ol o e
s Americon Society Of Tesling Ano Moericls aacsiva D EbNOQULLRER D
11_Y0UARYBIY I Bt Stondord 1 ailgnelumdicoglunufibavorvosusafu i
ey h , 19 o
et vt el :, e st ot w ittt g . o~
tune, oubrfonmemdalure mdmu ; ot uusm um.mh‘ Tmoutsguinsaline fidowes wiaufohms on Deutsches instlute Kormung Wivem inodh osiy i I} uly § Tregturs
faronr o PO & 4 i£c Intemationol Electratechnical Commisson L 1 Ve i it iz Sobams g e """“““’""}"’.“ N .
ot nstuton Of Clectrca And Eecrone Engmesrs Sk Bt G el )  sohummle e dtvbuinied J h ey b gnemou
12 mubuduon 50 nematan Sands Orgongaton sl e % e P 3¢ oyt itudiashuno e sl ! s ;
st Ve Wiomnnnery of m Intamobonat Teecommunrcation Union 282 pwlusen 10ds Bock Mount Frome WOE dumper Wre Gude Trofomslidsdiluunoomely “s i el MussunmioslunnifiB oo 1 el
i Sotehunsiwhursme s dopan Industrcl Standord 283 MeluA Prenory Cole IARAAAIAOE YA Connecton Mode BT Seconcry Cabe IiRMANEY Ay, 1 ) - enmafygy ueeond 5 Jugosnmléonechify .
mia sodefumilshanggnm s Nationdl Eiectrcal Menwlocturers Associcbon #om w0 Disconnection Moauie rmimuiszyluutnionkeds Lobel Hoder i 1 84 o Emiau 100 gew T L oee ) gt leq i
n Imnsaumatznelng 101 TOT Public Compony Limites Wiehtiuu socs Mo.nt Frome ) . . unmmiilyimilod wifyiaduy o .
NCA Nolianal Energy Authority w Underwrters Laboratonies 284 E 7 emorinnn - 500 wps iy um g “r g gt 0%
Nee Notiono: Bnctrcal Code wn gl o8 Suhoiodluhusnseautomnyms udu i s Swum szt s 3
Tor 01 P Company Lmies o I A — LMM . o .
121 i : (Grounding System) ey oupLg:
22 4 heppnasling sy owiouutado d ol 22 Snvnuzupzpun T A aaoll oot fag
lunl ooyt ) 0 ey Tt wndmamerey 221 Ut i i sl S L wie wozpinai P e Tl t ot
wareenuuy nessnis mdmogndmnate vandlemmian Y ¢ TR s e 29 plsatude
" o faooandusculii fughm, - 29 pinah’e A S W dntarfededurgl thed 43 sty
At 222 . K ¥t 7 dA ~ 4 o o . . .
13 snubshomsmanDotu FummE AT 291 huanl fnec (wia Covon Stes) Wlsimtorea F o " B 1 9 sivkus
| 8 ki Fagntod A 223 TTERE R —— st 292 quensif vt fos: Fouhustusl o0, ahoniss FRAOIFI ST A i s i b Tl st
o ) & . ekt e oude Hodh PRI G 4 1 G g o v 203 ol fus: a N, i g Yumduens ety lunsddinc ey o)
Nihwrsn Wtmborms fetmgereni 450 - 500 s ; b S A S e 1 294 inmiydussodeteommm i ey
hvmx'ﬁuﬂuiw!mmmﬂu.dm«amﬁ 224 s Oefirdadssdusest sl MY o
o s Aoatedli \ibised Tt 225 Dbt Stondli ot eyl A Bl 210 gunseiszinmensu 44w
.wmn 3 dnidam Sy A8 urctune b Wiy ! m 2101 vhumlumﬁumlnmwm (Coper Coatea Steet Graund Rod) W ¢ 5/8 i3 » elivioont 5 n g i v iy Wekni i Tow
134 mmwReodue i ilzack i Hiditng iKoni: s uweluinl saniurtadsfumelicizo i W mwmuimmﬂm«mﬂuhmwm\mwM:
unsyovlwg e flioon 5 50 ks . 2102 Mooy (wm vm) quuuw pvc Bt wnlilnndi 5 avws 442 nokfotmommndn (spice Cosur) . MidnSegme uacnipsogre Fomnachonnizzdn DU
135 Mo Aupnsait th o Ao sl 23 towdalnsfwi son ¢nmvwmwuﬂmn . .
(o) Ynella ’ - . . oyt monamsn ¢ 065 Dehuns g Posthere Shesth (Boct .nwn.m.in 203 m}nmlmﬁauumumuﬁwlmﬁu ABUUUL ermo Watg Comnocton SeatlUmmanmg e £37-1989 0 ol L v et
13 i U el 4 4 1y Wz (uen) g 4 Mumuhmv\]mu{mmwummmwm| P
i O P A e oones A . " . .
o 43 o g 50 duarms (ol +um LI A A R N —— S a3 : wnbznovdogy 444 ozl ponit ?mlﬂm;wfmmlw .
# i . 445 guey ! Welghr i Wy
£ RN 3 X AL WELE 150- 18 31 Uy w!ndlwwﬂaiufuwwm'(wumn o Budu
a1 m»Muaummmﬂummum bttty (Gudelae) (Requrament) 103
138 ok i oo [y Ac 200 26f0) Dstm s 200 g d G § \ ; A, Tmstoms b Wi
o . L o et A Suima fibrins wmxummw
) i » siutlodioivh 1 nieurlndlvith £ Cove Troy Support Wnammmdlolu Coble Troy Supporl UE2 Bowstertveian. it Nr it o A i Glunme Tnelipemlyemdh 451 7 ftusne e e £ateh il e il
1§ cobe " (uﬁu\wﬂumuunmm S (OSE—— 4511 Dsconnwcton Pug 1 Par i 5 K3 .
i 136 W Wit 500 A b 2 du ol 3 32 ol . T 4312 50 e Wre 26085 B (e 200 ) 20
wqdumnuuuml% «ﬂn\wrﬂumﬂdmnhmmmmuu Fennsai nu W ¢ GumAki x Anevsme. Amsl Busaby wae oo Il 3 fufh 4513 Teephone Testset $11u 1 1
ivatedlorh ll.lu‘nqinm\uvﬂdmuwuw\l«\ﬂﬂw . N P e sty " ) # Trafm 4514 hbamelvdm 1-25 dn 1 &
Tan v it 1S Cole Suppont Inceim Doy mozney 2.4 fnuen v asts gaihdseeTmdmi 1-25 (adgune 1000 #) iz 5 ndey
Wy by . O L &
Qe whesy 3y Buginmang wwbwads 154 ! ANSLNEMAIEC b 3.3 volmusswowin L 4516 Two-Por Test Corg 1M 3 ifu
1 Ankomn sosthud Fukeo onid : e il uoe wtun 1 i ‘unadth .ty viol 1 £ 1 4517 AUOR NEV 3 05mm (MK 100 1) 10 K
", I3 . . 14 v . O A 4, T, > rr A : - " s \.W
% 24! ! it s 12 bupl 33 ” 1 oAy u § 4518 1UEE TEV 4c 0G5 (munzmwvm
14 snskedpnuuns ﬁm]nmnu v it - i Il h e, - & - G el oy ¥ fited €319 4TI Orop wre 09mm 1P (ueE 250 wwD) e 2 4
. - " ¥ Y vy p
I oy Jotudh fh woun 32 o p 34 P ) ™ P Tumdg i il 45110 Fig8 Cobie weo Siter (anmnnnaunmnv) 1 l:(
i ) sosgronin el 12w Sl 45111 nrseton T dmi 2 2 g0
| e el g on PN P i - _ LU 3 o Y VL ' Rk o A ”
2 0 bam iy vbm f"“"""iﬂ' - i in A 34 undiekuhe . 45112 efolonsandngroTratny (fone Generotor Ang P o ) T LM
A!mmAwAﬂumh s ®vloe 4 0 wuidnfisty (458t Dronng) xﬂmwwummmhnﬁﬂn‘ ity um:/w!auIt’auu\lmguwumnﬁslmﬁnltdum s vt Wotmter 5., Yool 1
Nt 1 g N ., ' ’ . ¥ . S-p-—"-ﬁm jimeter 5,
sy 150 - 170 wm Witawn 243 sedughruen e seck et nm.. us dumpe wee Gude ool ftedel oty nren eanonyiay / b e o ' . R
1=Ku4u6uﬁumw\4muum:mﬂ, o ) 244 Prmory Cole Wodule UBEAS Scondory ol kel § ! o oy e i ot
44 g o o7 A 0 BYOR Dscomecton Node hummv’r:w‘.uuwmnhla Lobel Holger 147 1 814 07 4130 100 g Lok " 1 selviueaiha oty V""'\W,’y“ seisbamacy .
145 ) " Titwddou Boce o Frome 453 memsfwes aume 451 U
R PRt il .ok - . . . :
146 ik A i 245 4 I g
mmumumw\qvwn
) e + win 75 Dohas sondWS i
TS 25 gimlmems
15_midsderzyvionchu oo s 15 ) [T —"
151 mesewnvsandanm a2 150 WAy Famnid FoeutuTeetily unclel M Haw d
15z whunlewcropouunsgomng -mm 251 tusomn st o 0, doaind # Tuoonts 12 Sobems
153 Aomiewm Sheid Yoo y\ RO Non Datriubon Frame , BATU LDZRN ResAbashu M\gd donn , Srd e - “-Mmm-‘ Treloy . o ; 1 denthnzal wchumy
154 m1mmnmluﬁw5nmlum Moo (hernt waang) i TurgbA comp e et Neun 38 vlo® 34 &
18 Stond Lo Sl ol R aunzs i) Yoo Roale i & Yoo 12 Setows
Beasehumawaain . A Mul\x Mm Sty - s Telsnolumdeunge uroanel Hogtoned seburns
156 L A n!epmrwnﬂnmmnm ¥l NEWA 38 W0 P 34 e
ek LA
Truvoamlabh 60 uiam &0 dudams 255 melugnmemneluews 1Mw4mn I8 Dscornecton Mosle Smurzylusyy Trofonmlsi
157 nmmnmﬂm‘mﬂu w rﬁmwm md\\ﬂmlm 5 Tor dilmmdndureslsvinrehummouie vt whun Mq'hw Bock Mount Frome.
suny molugmiveviemouonowns Wilefasson s $Tn Bndng Post Screw Termao Incnumdtizyluan I
158 amaalumﬁlumnﬂumﬁu&u}mﬂum\wo #c e 1/2 Mwmm 250 wor «,ml,,;,mm Mouning R v
i . L . .
159 afo AT n u it i 20 Toviu Toomr$h20 Mego-Onm Mater oMY 7 ~on g
26 snewwetuenuazsiminmms
houon wung o x @ s B (o) wvughodoems | e ades gs Bn ()
CCC - 25P/25P 450 x 450 x 150 ¢ - 1P 250 x 300 x 150 P
By -
CCC - 50P/50P 450 x 450 x 150 TC - 159 250 x 300 x 150 ﬂiu@L%ﬂmi@ﬁﬂﬁwﬁ’]sLj@
CCC -~ 100P /1007 450 x 700 x 150 T - 250 250 x 300 x 150
CcC - 150°/150P 450 % 700 x 150 1 - 50 250 x 300 x 150 §moy un e St 1 auued ity s n 64
oonas st —
[P 502 700 1 190 WU gl .:nqh Liite, mea | »
GOowitns [ naaghe i [mea 9 3 e ge [YRIR
W e et 3 o ek yosun | wa &iwssh|  Wnnadmefindmnnte

iy

nanny | e endon qum B Snsid | yomn Ly 'luﬁ./l' m/lli/‘“__/(ﬁ,_
i 0]
AWAY. 64— 43232 T | 4
prRen e
Tamennaosudonsztund)
[l L)

Wit 1938 ATINEBLLAEERNULL NBNMUANYI naBlinme

TonBemzneuuuy

TOMIUEE VRO VINUT NSIUOLINTV RV XE

19N00¥4 TYNOILYOINGT NSIAOLNY NV AL AID000Md



BY AN

'EVAN

il

Slersn s audonseduingd

VI

1: 1000

w(u) uﬁ

gL —

23 @
thum(\m i

et )

e
(ot Bonudley

Tnevwn we

MWTm .,:q i

|

|

emifunywiosidalin

AP—FSF 0830, x 200 Por Caie
wlunavinoum 3o v wdul
fuinale Yo

[

=

|| m
L () 085 mm. x 200 Pors
dulunanfimuie 30 i hiul

LJ“ ﬁ;ﬁl—ﬁ 'B:

wmiiuen

L

quésanty |

i L Sched 0f Symb & Abbr
| = =
b\ ‘ nd - o wrlohbmurinioure
{ |
e ) ~ - oo wrlohbwaurinbnus o omiassnilirh wnrfoin
[ ——
— | @ o oned e .
. i 0 [ e i E ‘ = -
. ( PP 085mm. x 200 3w i
- u‘i (i \ " m 30 s it [ R ]
R o W= . a«%;;,; S A IRy — ol rr————
ot 1 | - -
o l A/ fAnmemy ) 400085 mm.x 0 Pora Caia i s (urcon ron ki
L e e | ORI AP-FSF O 88 x 25, 80, 100, 200 Pre Srulumeluemuiurns
I ——— :vw: AR(8) 0.65 mm. x 200 Prra Cabie = = - = | stk 10 0. » 23 30 10, 20 o bbbl
— C = T O3 H | s s om ehn e
| Batuatinorhs r [ i
\ | ] ehmbemy I
\4 | [E— e
| . -
M e ausonsoous | F a 5 - ¢ -
i ’ ‘ i ATNBLANNTDUNTVINGLID
J L — H ey [Mnunes dndny . Lesust dmbsedy
. oLy nvaghe Taite, s s o4 \
= L___ﬁ} J oty | weeqhe Tnidn | nea AP s wa e fen
1\ | Ja— Ay e el oy p ol vomin | ue & Waiga|  Wnsloviofindminte
b — | st asenoenst rowms o st g | Wootomeiy | iy Ly b woull¥wn bl
" BuuvIeRY VM wufl
(E— e ANAY, 64—432-32 oo | 2/4
I Wi e
& Trowwogudomzthund w o X
(voatwi manaf memm—ren )
i ; T
TomIoEE g

MY AS




PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

BYAN EQUCATIONAL PRODUGL

i s 1
|
i
=
r Pipe 9 3"
|
! e —SeE ETAL D
2302 X8 Anchor Bl
e ot NN o 9 W @ 015 & Anchr Bt
~ [___\r-_l wx
- a2 4 'é
([ iy 2082 mrom e{—PL. 20mn. Bow Plote
SN E:}{i_w
e o xor x4 % @ | T s
(LY
TOP VIEW
BASE PLATE DETAIL

6 M2 X & dechor Boit

{_—‘—*—mumomd

w124

onbedby 208 12 10w

i & 015 X018 x40 M
e

DETAIL OF BASE PLATE CONCRET

wwndnendensd e 3 wes dwduumadalnsdw
SCALE 1:20

MDF
Vorumelnm

a1 Coble (M)

® © solmmanilih
e e &
- 4-FSE 083m, x 200 Poi Sably 2 Wy _[TEE s mm;‘
. 2 § MoF (vouty viedlwh
fhoneRvvoudy :ﬂ :maumv’uumﬂnlu

Vaomubuzewioms 100 |
furwmebumize so mnn |||

AP-FSF 0.68mm. x 200 Pak Cable 3 iU
@
il

GmoRuiou nsen Akl

+iodlwh un mansmemnTde

1600P/1600P

széudy

yunBeemr unwe
O . N !
mash- oon 11.uitnhe 0oy 2 nowehBumeunns
‘mav-eon ewvedn 1
ONE LINE DIAGRAM TELEPHONE SYSTEM
__4\_‘.[_

N i tc«m- Ladder 100x300mm.
A‘ (== Angle Length 0.35M,

Sheet Iron 50xSmm.
t 5 Bolt & Expansion Anchor ©3/8"
. N 4 Angle 50x50xSmm. Length 0.40M.

S &

e Walt

givened 2

D

™ =]

nsuddnnsedndnmsie

e e B | & waldd)
warmn | weondod qum | wecshame Dby | ¥ gl

Ay [ununes sndny | Lesusd dmbuely
comuy Vi, 1o 8 fin 04
GOusvu | neagh i | wae i< 5 we e | MIN

wWinnubdamefindmnate
it wesmn 4.

ey UmE wift
ANy "6 4-432-32 T | S
i e
1. r? A, » " ONE UNE DIM“}M‘ TELEPHONE SYSTEM
{ vt o sy—— X I
wundnn nesnnTIYN L Im

RVAT

1DN00Nd TYNOL YONGE ¥SAAOLNY MY A6 AII000M




PRODUCED BY AN AUTODESK EDUCATIONAL PRODUCT

450

4

by

Straight Thimble Eye Bole
/ #5/8" With Nut & Washer

Preformed Guy Grip Decdend

Proposed Cable

Cable Tray Support

Platform Pole

Angle Thimble Eye Boit
85/8" With Nut & Wosher

Preformed Guy Grip Deadend

Guy Strain Insulator

Galvanized Steel Strand

Thimble Eye Anchor Rod
5/8"x71t. With Nut & Washer

Back Fill

Reinforced Concrete Log 1.20m. Length

Guy Pole

>

Preformed Guy Grip Deadend

Straight Thimble Eye Bole
#5/8" With Nut & Washer

Cross Road Pole

Figure B Cable Clomp Type
Pa 296 With "J" Hook

Figure 8 Cable Clamp Type

Machine Bolt Size # 5/8"
Pa 296 With "J" Hook With Nut & Square Washer

- 450

spdiudy
AR

One Cable On Pole

Telephone Terminal Box

PVC Pipe #1/2"

- 250

Stainless Steel Band & Buckle

Ground Wire 1-25 sq.mm.

Exothermic Welding

Copper Coated Steel Ground Rod 95/8"x8ft.

Terminal Box Pole

F— wnsunindaizsvuin 9.00 ey

kb

. |
;[ J ? sountave 1:3:5
Pu/BgdinnTsnaunuu

Proposed Pole

Steel Flot Cross Arm Brace

Cross Arm Wood 4"x4"x1.50m.

Double Arming Bolt Size # 5/8"
With Nut & Square Washer

Two Cable On Pole

Straight Thimble Eye Bole
#5/8" With Nut & Washer

Strandvise 1/4"

> Cable To Riser/MDF /TC
Support Messenger Wire

PVC Pipe #1/2"

Stainless Steel Band & Buckle

Exothermic Welding

Machine

Copper Coated Steel Ground Rod #5/87x8ft.

Dead End Pole

Straight Thimble Eye Bolt
5/8" With Nut & Washer

Coble Suspension Clamp

B-Lashed Cable Support

Corner Pole

Bolt #5/8"

With Nut & Washer A

[ m—
Coble Suspension Clamp —¢§

by

Cross Arm Pole

Cable Suspension Clamp

C Strand Ground Clamp 1/2"

Ground Wire 1-25 sq.mm.

Stainless Steel Band & Buckle

PVC Pipe #1/2"

- 250

Exothermic Welding

f~———————— Copper Coated Stes! Ground Rod #5/8xB.

Ground Pole

ynw
& v yaevwenu Wikndde vtk wn
#: N1y §:
a % ¢ -
nIvdlannsendniisiie
gmy  [unumen utmd seuued dmbedy |
[ESVT Sy e————" L
Gluuy [ neaghe 1nie nnﬁ’ B wa ee | WOLR
e sy awod rewm | ve & (NR4g|  Wmablemisdndmnate
waony | wedndod qwe [ue SR | ¢ g wtlh m/‘/&nu{4
W woufl
ANAY. 64-432-32 AS SHoW 4/4
i [EereLy
Tsomennoaufonszthunt v vonBomntilnemOolmAmifugunici
b s e )
waindrn & ol Tn

1A0AMMNA TWNAT VAN NOTNAI NV NV 1A AIANAMNA



